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Introduction

This Familiarization Guide is designed to provide prospective examinees with information about
the Defense Language Proficiency Test 5 Computer Adaptive (DLPT5-CA) in multiple-choice
format. This guide contains general information about the test design, the format of the test, its
length, its content, the skills tested, and the procedures used in scoring and reporting the scores.
In addition, screen shots of what the examinees will see when taking the test on the computer as
well as information on testing procedures are provided. Finally, there is a section of sample
reading and listening passages with questions, answer choices, and explanations for each choice.

Overview of the DLPTS5-CA Multiple-Choice Test

Department of Defense Instruction DoDI 5160.71, 2019 identifies the Defense Language
Proficiency Testing (DLPT) System—for reading, listening, and speaking modalities—as an
essential component of the Defense Language Program, and critical to the Department’s ability
to measure and capture the language capabilities of the DoD Components and to determine
readiness.

Except as otherwise provided in DoDI 5160.71, 2019! or as authorized by public law, the DLPT
System is the only test battery authorized for assessing an individual’s proficiency in a foreign
language and for determining qualification for receiving a Foreign Language Proficiency Bonus
(FLPB) for military personnel pursuant to DoD Instruction 1340.27 or Foreign Language
Proficiency Pay (FLPP) for civilian personnel pursuant to DoD 1400.25-M in the Department of
Defense.

The fifth generation of the Defense Language Proficiency Test (DLPTS) measures target
language proficiency in two modalities, reading and listening, regardless of how the target
language has been acquired. Target languages refer to the languages other than English for which
the DLPTS is developed. Like all previous generations of DLPT—since the inception of the first
standardized Army Language Proficiency Tests in 1948—the DLPT5 was developed as a
bilingual test requiring English language proficiency as prerequisite for foreign language
proficiency testing.

The DLPTS tests measure proficiency as defined by the Interagency Language Roundtable (ILR)
Skill Level Descriptions, levels 0+ through 4 (https://www.govtilr.org/), where available. The
results of the DLPTS5-CA will be used to make operational readiness, incentive pay, and training
decisions for civilian and military language analysts in the United States government. The
DLPTS-CA provides the same level of precision and accuracy in measuring examinees’
proficiency levels as the conventional DLPTS5s.

!'Source: DoD Language Testing Program, Department of Defense Instruction 5160.71, January 26, 2009,
Incorporating Change 2, Effective April 9, 2019, USD(P&R).


https://www.govtilr.org/
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Description of the DLPTS5-CA
in Multiple-Choice Format

e Test Design
Computer adaptive testing selects passages and questions adapted to the examinee’s ability.

o The DLPT5-CA Reading Comprehension Test begins with a passage of medium
difficulty. Depending on the examinee’s answers to the questions posed for that
first passage, the system selects the level of difficulty of the next passage and
questions. Throughout the test, the selection of passages is dependent on the
examinee’s responses. A reading passage can have up to five questions, each with
four answer choices. The reading test contains a minimum of 35 questions.

o The DLPT5-CA Listening Comprehension Test begins with a passage of medium
difficulty. Depending on the examinee’s answers to the questions posed for that
first passage, the system selects the level of difficulty of the next passage and
questions. Throughout the test, the selection of passages is dependent on the
examinee’s responses. A listening passage can have up to three questions, each
with four answer choices. The listening test contains a minimum of 35 questions.

o Examinees have 3 hours to complete the Reading Comprehension Test and 3
hours to complete the Listening Comprehension Test. However, many examinees
complete the DLPT5-CA in less than the allotted time. Examinees will NOT be
prompted to take a break. If an examinee would like a break at the 90-minute
mark, an examinee can use the HELP button to request a 15-minute break.
For the Reading Comprehension Test, examinees may take as much or as little
time as they wish to answer each question. For the Listening Comprehension Test,
although the playing of the passages is controlled by the computer, examinees
may take as much or as little time as they wish to answer each question.
Managing time effectively is the examinee’s responsibility.

o Unlike conventional DLPT5s, DLPT5-CA does NOT allow examinees to skip
questions, go back and forth in the test, or review or change previous answers at
the end. Examinees must answer the questions on the page they are presented
in order to move forward in the test. The “NEXT” button (at bottom right)
does not show up until after all the questions on the page are answered.

e Test Content

o The DLPT5-CA is designed to measure proficiency in the target language
regardless of how that language has been acquired. For this reason, and because
of the broad proficiency orientation of the test, its content is not tied to any
particular language-training program.
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o The majority of passages included in the test are sampled from authentic materials
and real-life sources such as signs, newspapers, radio and television broadcasts,
the Internet, etc.

o The passages cover a broad range of content areas, including social, cultural,
political, economic, geographic, scientific and technological, and military and
security topics.

o Test content will be systematically updated.

e Test Format: The test includes instructions on how to take the test, examples of how to
answer the questions, and question sets. Each question set contains the following parts:

o Orientation: This is a short statement in English that appears before each
passage. Its purpose is to identify the context from which the passage is taken.

o Passage: This is the only element of the test that is in the target language being
tested. The maximum length of a Reading Comprehension passage in this test is
approximately 500 words. The maximum length of a Listening Comprehension
passage in this test is approximately 2.5 minutes.

o Question statement: Each individual question is based on the passage, is written
in English, and is posed in the form of a complete question or an incomplete
statement. The questions may ask about what is explicitly stated in the passage,
or, in some cases, what is implied in it. Occasionally, questions may ask about
specific words or phrases that are used in the passage. The number of questions
asked about each passage is related to the length and complexity of that passage.

o Answer choices: Each question statement is followed by 4 answer choices, also
written in English, only one of which is the correct answer. Each answer choice is
displayed on the screen with a button next to it that examinees will click to select
that choice. Examinees can change their selection by clicking on a different
button.

DLPT5-CA is Controlled Unclassified Information (CUI) and the unauthorized discussion,
disclosure, or possession of any of the test content is forbidden.

For military personnel, failure to comply with this prohibition is a violation of Article 92,
Uniform Code of Military Justice, and will result in administrative or disciplinary actions.

For civilian personnel, failure to comply with this prohibition may be prosecuted under Title 18,
Section 641 of the United States Code.
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Scoring

Examinee scores are reported in terms of ILR levels, including “plus” ratings. Possible scores are
0, 0+, 1, 1+, 2, 2+, 3, 3+ and 4. Separate scores are reported for reading and listening.

Scores reflect current functional language proficiency in reading and listening as defined in the
ILR Skill Level Descriptions (https://www.govtilr.org/).Scores do NOT reflect proficiency in
speaking or writing, nor do they reflect examinees’ job-related performance or ability to perform
specific language-related tasks under special circumstances (e.g., reading or listening to a target
language passage indefinitely many times with the aid of supplemental reference materials and
information sources).

Scores on the test are based on the number of questions answered correctly. The best strategy is
to answer all questions to the best of your ability.

Preparation for Taking the DLPTS5-CA

The purpose of this publication is to familiarize prospective examinees with the DLPT5-CA
multiple-choice format and general testing procedures. Other than carefully reading this guide so
that the test instructions and format are familiar, there is very little to be gained from “studying”
for the test. The best preparation for the DLPT5-CA is the acquisition of a solid base of general
proficiency in the target language, both through formal training and through language exposure
and use in a variety of real-life language-use settings. Study aids (i.e., dictionaries, reference
books, etc.) are not permitted for this test.


https://www.govtilr.org/
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Test Procedures and Instructions
for Taking the DLPT5-CA

The purpose of this section is to familiarize prospective examinees with how to take the DLPT5-
CA multiple-choice Reading and Listening Comprehension Tests. Test procedures and
instructions for both the Reading and Listening Comprehension Tests are provided.

Test Procedures Overview

This section is to help prospective examinees become familiar with the test procedures of the
DLPTS5-CA multiple-choice Reading and Listening Comprehension Tests. First, there will be a
short description of what the examinees see before the actual test begins. Then screenshots of
what examinees will see on the computer screen will be provided.

At the beginning of the test session, the examinee logs on to the system using a Common Access
Card (CAC). The examinee must click on the [CAC Logon] button before moving to the next
screen.

hrformation and Techno

DLPT Testing

Candidate Logon

The Test Administrator has sucessfully logged in. |
CAClLogon ~User ID & Password |

CAC Logon Usar ID:

Password:
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The next screen provides a list of tests for which the examinee is registered; the examinee selects
the appropriate test from the list.
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Once the test has been selected, a series of introductory screens appears. These screens contain
the Privacy Act Statement, the Disclaimer for Defense Language Institute Tests, the Non-
Disclosure Statement, and the Test Administration Statement (of the examinee’s ability to take
the test at that time). The examinee must click on the indicated checkboxes under the Disclaimer
Statement and then the Test Administration Statement before moving to the next screen.

Below are introductory screens from the Reading Comprehension Test. The Listening
Comprehension Test, not depicted, has similar introductory screens.

DLPTS Reading Comprehension Test for Language X

Defense Language Proficiency Test

Multiple Choice Format If you have difficulty with the instructions or any
functions of this test, click the Help button in the lower
left corner.

CONTROLLED UNCLASSIFIED
INFORMATION

Controlled Item (Test Material)

Language X

Language Code X Not to be shown to unauthorized persons

Notto be reproduced without authority granted by the Commandant

Lower Range Reading COmpl’ehenSiOn Defense Language Institute Foreign Language Center

To begin the test, click the Next button below.

Introduction: Screen 1 of 5
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Privacy Act Statement and Disclaimer:

DLPT5 Reading Comprehension Test for Language X

Privacy Act Statement:

Disclosure of requested information is solicited under the
authority of Title 10, United States Codes 3013, Army
Regulation 350-20 and Executive Order 9397 and is mandatory.
Social Security Number is used as the personal identifier
number of all personnel under control of the Department of
Defense, and is used in connection with updating information in
official records and training files. Use of Social Security
Number provides for objective scoring of Defense Language
Institute tests, as the examinee's Social Security Number is the
only identifier so as to maintain confidentiality when reporting
test scores to examinees. Failure to provide Social Security
Number may result in misidentification and non-credit for tests,

and/or inadequate counseling and guidance.

Introduction: Screen 2 of 5

Disclaimer for Defense Language Institute Tests:

Materials for this test come from authentic scurces within the
target culture. These sources often include conversations or
written material of a controversial nature which are essential for
understanding world events. As a result, there may be topics,
ideas, and language in the areas of politics, international
relations, mores, etc., that may be considered contentious. The
presence of controversial statements on a test should not be
construed as representing the opinions of the test development
team, the Defense Language Institute Foreign Language Center,

or the Department of the Army.

L, confirm having read and
understood both the Privacy Act Statement and the
Disclaimer.

Click on the checkbox above to confirm.
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Non-Disclosure Statement and Test Administration Statement:

DLPTS Lower Range Reading Comprehension Test for Language X

Non-Disclosure Statement:

| understand that this test is CONTROLLED UNCLASSIFIED
INFORMATION and the unauthorized possession, disclosure,
or discussion of any of the test content is forbidden. Such
unauthorized discussion or disclosure refers to RELATING
ANY ASPECT OF THIS TEST TO ANYONE, including an
instructor, supervisor, fellow employee, or spouse.

Civilian Personnel:
Any failure to comply with this prohibition may be a violation

of Title 18, Section 641 of the United States Code which could

subject the violator to a fine, or imprisonment up to 10 years,
or both.

Military Personnel:

Any failure to comply with this prohibition is a viclation of
Article 82, Uniform Code of Military Justice, and will result in
appropriate administrative action to fix responsibility for
such unauthorized behavior with criminal sanctions of up to
two years hard labor and dishonorable discharge for those
involved.

Introduction: Screen 3 of 5

Test Administration Statement:

| understand that | am not required to take the Language X
Reading Comprehension Test at this time if there are
extenuating circumstances such as fatigue, illness, emotional
distress, family or financial problems, etc., which may interfere
with my performance on the test; and that the test will be
administered at another time acceptable to me, the Test Control
Officer (TCO) concerned, and my unit commander.

I._, confirm having read and
understood both the Non-Disclosure and the Test
Administration Statements.

Click on the checkbox above to confirm.
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The next several screens contain examples of the screen layout for examinees to familiarize
themselves with the features of the test, instructions for taking the test, and a sample test passage.

Reading Comprehension Test

Example of screen layout for the Reading Comprehension Test:

Explanations of the parts of the screen are provided. Familiarize yourself with the features of

this screen now.

ORIENTATION STATEMENT
= Explains the source of
the passage in English.

FOREIGN LANGUAGE PASSAGE
+ Paragraphs may be marked
(71}, (72}, etc.

DLPTS Reading Comprehension Test for Language X

Passage 1

& From an article

J0000CKXY YYYYY 200 XXXXYYYXYXYXYY XXXY VXY XY
YYYYY 00O000YYYXYXYXYY X000 YXYXY YYY YY. X000
J00OOFY YXYXYXYY 000Y YXYXY YYYYY 300X 0000 Y YXYKY
Y H00F YIOVXY YYYYY 000000NNOrOnOny J000F YOy,
000K YXY. XXXXYYYXYXNCFY XXXY YXYXY  YYYYY XX 00
JOMONONCYY XXXY YXYXY YYYYY X000000YYYXYXY XYY
HO0F YHYRY,

= If a question asks abouta
specific word or phrase, it is shownin
red orhighlighted in grey in the text. |

(The text shown here represents
a generic foreign language. It is
not meant to be legible.)

+ Ared line indicates the end
of a passage.

= To see an entire p

N XY YYYYY XX 0000YYYXYXYXYY XO0OCY YXYXY YYYYY
300 X0 J0CYYXYXYXYY X0OCY YXYXY. YYYYY XX
KOOONTYXYRY XY X0OKY YXONXY YYYYY X00XXXKY
YYXYXVYY XXXY YXYXY  YYYYY 200000 XYYYXYXY XYY
SO0 VONY WYY 300 I0000NTYIONONONT JOO0Y YXY,

HOOONMNONOONY X000Y YIONEY Yy 0000
KOPYYNYXYINY XXXY YRVEY YYYYY XX 000V YYXYXY XYY
OO0 YXYXY YYYYY J00000CY YYXYXYXYY 00T YXYXY
YYYYY 00000 XYYYXOCY X ¥ YXYXY  YYYYY XX
HOOONIVCNOY XYY J000Y YIONCY  YYYYY 20000000,

you may need to scroll. :

Click this button if you have

any technical difficulties.

Help Questions 1-3 of upto 33

Question #
Total#of questions

Test ends in: 85:49

Time remaining

1. What does the author claim about his sources?
They are major players in the governmental sector.
They are primary political figures.
They have been significantly cautious in the Last few years.
[ Thwy have been a favorite target of politicians.

2 What is the author’s purpose in discussing this issue?
To highlight the corruption of the current system.
Toexpose traitors in the higher echelons of the military,
To contribute to public awareness.

To criticize those not paying attention.

3, By using the expression “X00CY YXYXY YYYYY™ the author
attempts to
emphasize the deeds of 3 certain agency.
underiine the importance of the corruption.
wxpose the evil-doers.
'show the historical roots of the issue.

Goto:

Next Passage

TITLEBAR
+Indicates the test title.

QUESTIONS
+ To choose an answer,
click the button next to
that choice.

+Tochange youranswer,

click the button next to
that choice.

+A red line indicates the end
of the questions.

STATUSBAR

Note: The text and questions in these screens appear smaller than the text and questions on the
actual test passages. The example text represents a generic foreign language, it is not meant to

be intelligible.

10
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Instructions screen for the Reading Comprehension Test:

DLPT5 Reading Comprehension Test for Language X

This test measures your reading comprehension. It contains a number of reading passages, and there are one
or more questions based on each passage. In taking the test you should do the following:

Read the short statement before each passage that tells you where the passage came from.

Read each passage and question or questions carefully. Some questions may be in the form of an
incomplete statement.

Based on what you have read in the passage, choose the best answer to each question from among
the four answer choices. The answer to each question may be stated overtly in the passage or only
implied.

Click on the button next to the answer you have chosen. You may change your answer by clicking on
a different button.

Once you have answered ALL questions the [Next] button will appear at the bottom right of the screen.
Click on the [Next] button to go to the next passage.

When 'time remaining’ shows 90:00, you may take a 15-minute break by clicking the HELP button to
get the TA's attention

A sample passage follows on the next screen.

If you need help during the test, click on the [Help] button.

Introduction: Screen 5 of 5

11
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Presented here is an example of a Reading Comprehension Test sample passage with its
associated question:

DLPT5 Reading Comprehension Test for Language X

Sample Passage 51. What advice is given in this passage?

From the advice section of a magazine O How to improve water quality.
O How to avoid dehydration.
Dejar el grifo abierto mientras te lavas los dientes puede O How to maintain good oral hygiene.

consumir mucha agua. Si solamente mojas el cepillo, te () How to save on water.
cepillas y después lo enjuagas, empleas solo un litro.

End of questions for this passage

End of Sample Pazzage

Sample Passage 1 question

After the sample passage, the examinee clicks on the [Next] button and moves to the Start of
Test screen. Examinees should do their best to answer all questions on each screen because they
will NOT be able to go back to previous passages.

12
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Start of Test screen for the Reading Comprehension Test:

DLPTS Reading Comprehension Test for Language X

Start of Test

This reading test contains:
bhetween 35 - 38 questions.

You are allowed 3 hours (180 minutes) to complete the test.

To get the best score you must finish all the questions within
the time limit. So, work accurately, but do not spend too much
time on any one question.

The test starts with a passage of medium difficulty. You might
feel challenged initially because the test does not start with an
easy passage. The selection of subsequent passages will
depend on your responses to previous passages.

After you select your answer and click the NEXT button, you
CANNOT go back to change or review your answer.

When you are ready, click the [Start Test] button below.

The screen will move to Passage 1 and the clock will begin.

End of Instructions Test ends in : 180:00 Start Test

By clicking on the [Start Test] button, the examinee moves to the first passage of the test and
starts the clock.

13
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Comments screen: At the end of the Reading Comprehension Test, examinees will have the
option to leave comments about the test.

Your Name I

Your results have been submitted.

We would appreciate your feedback on either the content of the test, environmental/technical issues during
your test, or both areas. Please click Next to continue, or Log Off if you don't want to leave feedback. Thank

you.

Please leave comments regarding test content issues and/or technical/environmental issues
during the test.

Content Issues

| had issues with or would like to leave feedback about:

["] Audio Quality (listening passage background noise, static, etc.)
(") Foreign Language Passage

D English content or instructions

("] Other

Please explain:

characters left

Technical & Testing Environment Issues

| had the following technical issues or would like to leave feedback about: (Internet, headset, equipment
problems, etc.) and/or issues with the testing environment (room temperature, distractions, breaks, etc.).

[} Re-login due to test interruption

2000 characters left

14



DLPTS5-CA Familiarization Guide — August 2025

Listening Comprehension Test
Example of screen layout for the Listening Comprehension Test:

Explanations of the parts of the screen are provided. Familiarize yourself with the features of
this screen now.

DLPTS5 Listening Comprehension Test for Language X

Example of Screen Layout

Familiarize yourself with the features of this screen now.

[LPT 5 Lrstening Comprehenson Test for Lamguage N TITLE BAR
~Indicates the test ke,
Passags 1
This pasnsge is taken hom 3 news brosdoas DRIENTATION STATEMENT
= Explaing the source of tha passaga in English.
1. What does the suthos claim sbowt his sources?
iy v muakos phayess in i govorrm erdsl weckor
They swte prbmary podiiical Rgures.
Ty hares B g ificaily caticus i iha Lisi b years OQUESTIONS
Ty s sk 4 Bevsing it st chans = To chaose an answer, click the button next
o thai choice.
T R = *To change your answer, click the button
P highlight et coimpmion of the ot wystan mextbo A defterent cholce.
o SRS MERITY I6 P Tapha SRSk, o P Ty

To cosmitue 1o rabd: enorrman = To see all the questions, you may need to
Bis v i inr dhavm 08 gy s SCrol.

= & red hine ndicates the end of the questions.

— STATUS BAR shows:
Clck this bautton = Carrent question number(s)

of ol Ve any
technlcal diffcultio s = Total numiber of questions

= Timer status
Questions 1.2 of wp io 13 Testends inc BR 49
= Play Audio and Help buttons
Cueston § Time remaining To hear the audso for a passage,
Total ® of questions chck this button.

Introduction: Screen 4 of 7

Note: The text and questions in these screens appear smaller than the text and questions on the
actual test passages.

15
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Note-taking: A space for notetaking might be available for a few selected passages.

Example of Screen Layout

mpreternion Test for Language X

TITLE BAR

n » Indicates the test tithe.
| Pazzage 1

Wl the SIS0 I3 PIEYIN. O C.aN EYDE MOIES i T IoC baslow.
This pEIESEY IS taken Irom & nows troaacast

ORIENTATION STATEMENT

| * Explamna the source of the passage n Enghish.
1. What does the author claim about his sources?

Tty B¢ Major phayers in B QovETTIES] 360100, TEXT BLOCK

Thy' e peimary POAUCH Mgures + Allows you to take notes while the audio is playl
Y

ety have been sipnificantly Caubous in the lasl few yoars.

They hatwe Deen o favorise Lrget of pOGCEns. QUESTIONS

+ To choose an answer, click the button next
to that choice.
2 WRGH i Dhé SWIROIS PUTPRORE I dRCUAIRG this Bawm T

+ To change your answer, click the button
To highbght the Cormuphon f the curmenl sysiem.

next 10 a different cholce.
To expose tracrs in the Pegher eche loms of the milita
dy « Ta see all the questions, you may need lo
To conlritete 1 PubEc swaiengs. scroll.
To crEscids thotd ROt payng attanteon.

« A red line indicates the end of the questions,

Sed e poanaeen e I pansige

STATUS BAR shows:

» Current question numbers)
Click this button

if you have any

= Total number of questions
technical difficulthes

» Timer status
Help Questions 1-7 of up to 32 Test ends in- B9:31

- Play Audio and Help buttons

Question &

Time remaining
Total # of questions

Ta hear the audio for a passage,
click this butten.

16
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The next two screens contain instructions for the Listening Comprehension Test:

DLPT5 Listening Comprehension Test for Language X

Test Sequence

When a passage screen opens, you will see the
passage number, orientation statement, and the
question or questions with their answer choices.

At the very bottom of the screen a [Play Audio] button
will be visible.

When you click the [Play Audio] button, the audio will
begin. The phrase 'Audio Playing' will be displayed in
the status bar at the bottom of the screen.

You may answer questions at any time during the
playing of the audio.

You may not move to the next passage until the audio
finishes playing AND you have answered all questions.
When the audio finishes and you have answered all
questions, the [Next] button will appear at the bottom
right of the screen. Click the [Next] button when you are
ready to move on to the next passage.

The [Help] button reappears at the end of the audio
playing for each passage. If you need help concerning a
passage, make sure that you click the [Help] button
before moving to the next passage.

Introduction: Screen 6 of 7

17

The Clock

« The amount of time allotted for this test is 3 hours (180

minutes).

- Itis your responsibility to keep track of where you are in

the test, and how much time is remaining.

+ When 'time remaining' shows 90:00, you may take a 15-

minute break by clicking the HELP button to get the TA's
attention

BEFORE YOU PROCEED, adjust your volume.

| Test Volume ]

Click the [Test Volume] button to hear a short audio file.

Q@ contill
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Instructions for the Listening Comprehension Test:

DLPT5 Listening Comprehension Test for Language X

ATTENTION: You should hear a voice reading the instructions below.
If the audio is not clear or loud enough, raise your hand now to alert the Test Administrator.

When a passage screen opens, you will see a short 2tatement in Englizh that explains the context from which
the passage was taken, and below that, the question or questions associated with the paszage.

When you are ready to hear the passage, click on the [Play Audio] button located at the bottom right corner of
the screen.

You will then hear the short statement in English followed by the passage. Some passages will be played once

and some will be played twice. When a passage is played twice, there will be a short tone signal just before the
passage iz played the second time.

You do not have to wait until the pazsage has finizhed playing to begin answering the questions. After hearing
the passage you will be reminded to answer the question or questions. Read each question and its answer
choices carefully, Some questions may be in the form of an incomplete statement.

Based on what you have heard in the passage, choose the best answer to each question from among the four
answer choices. The answer to each question may be stated overtly in the passage or only implied.

Click on the button next to the answer you have chosen. You may change your answer by clicking on a
different button.

Click on the [Mext] button at the bottom right of the screen to go to the next passage.

A sample passage follows on the next screen.
If you need help during the test, click on the [Help] button.

Introduction: Screen T of 7 Audio Playing

18
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Presented here is an example of a Listening Comprehension Test sample question (the sample
passage audio would be played while the screen is displayed):

Note: Examinees may select their answers to the questions while the audio is playing.

DLPTS Listening Comprehension Test for Language X

Sample Passage

This passage is from a conversation between two friends.

§1. What is the mother telling her frisnd?

) Her son decided to go to college.

_) Her son visited friends in the city.

) Her son opened an office downtown.
_) Her son found a new apartment.

End of zuestions for Sample Passage

Sample Passage 1 question Play Audio

Note: After audio plays, the [Next] button will appear at the lower right of the screen.

When a passage screen opens, examinees can start the audio by clicking on the [Play Audio]
button whenever they are ready to listen to the passage. When the audio finishes, the [Next]
button will appear.

Examinees can move on to the next passage once the audio has finished playing by clicking on
the [Next] button. Examinees should do their best to answer all questions on each screen because

they will NOT be able to go back to previous passages.

After the sample passage, the examinee clicks on the [Next] button and moves to the Start of
Test screen.

19



DLPTS5-CA Familiarization Guide — August 2025

Start of Test screen for the Listening Comprehension Test:

DLPTS Listening Comprehension Test for Language X

Start of Test

This listening test contains:

between 35 - 37 questions.

You are allowed 3 hours (180 minutes) to complete the
test.

To get the best score you must finish all the questions
within the time limit. So, work accurately, but do not spend
too much time on any one question.

The test starts with a passage of medium difficulty. You
might feel challenged initially because the test does not

start with an easy passage. The selection of subsequent
passages will depend on your responses to previous
passages.

After you select your answer and click the NEXT button,
you CANNOCT go back to change or review your answer.

When you are ready, click the [Start Test] button below.
The screen will move to Passage 1 and the test will begin.

End of Instructions Test ends in : 180:00 Start Test

By clicking on the [Start Test] button, the examinee moves to the first passage of the test and
starts the clock.
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Comments screen: At the end of the Listening Comprehension Test, examinees will have the
option to leave comments about the test.

Your Name I

Your results have been submitted.

We would appreciate your feedback on either the content of the test, environmental/technical issues during
your test, or both areas. Please click Next to continue, or Log Off if you don't want to leave feedback. Thank

you.

Please leave comments regarding test content issues and/or technical/environmental issues
during the test.

Content Issues

| had issues with or would like to leave feedback about:

["] Audio Quality (listening passage background noise, static, etc.)
(") Foreign Language Passage

D English content or instructions

("] Other

Please explain:

characters left

Technical & Testing Environment Issues

| had the following technical issues or would like to leave feedback about: (Internet, headset, equipment
problems, etc.) and/or issues with the testing environment (room temperature, distractions, breaks, etc.).

[} Re-login due to test interruption

2000 characters left
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Sample Passages

The purpose of this section is to familiarize prospective examinees on the levels and types of
passages as well as their associated questions that appear in a given DLPTS5-CA test in multiple-
choice format. Below are some sample passages from ILR levels 14 in reading and listening
taken from Modern Standard Arabic, and their associated questions and answer choices.
Explanations of the correct answer for each question are also provided.

Reading Comprehension Sample Passages

Sample Passage 1: ILR Level 1

From an ad in a magazine

Losg¥) AN & 1D (S Cilantiag Golid
oY)
Eoml (IS Algs b daily Aybile Allae oLisd dap oI i
b (paiainds Alsan Allae g 921 Aulid S 355 Jausg¥1 )30 3 15D (o5lS (3ol
Juns Len caanlsll AL Laih 1395 (s T2l sy cajlion cilasing Bualilly dall
san iy o e Y1 AES BT L83 6 g ysedl) Als DUnes S

1. What special offer do Crowne Plaza Hotels provide?
(A) Deals for long stays.
(B) Meal-inclusive packages
(C) Special weekend rates.
(D) Discounts for families.
The correct answer is (C).

Justification:

(A) is not the correct answer. This option is incorrect because the passage does not mention
anything about long stays. The focus is on weekend vacations.

(B) is not the correct answer. There is no mention of meal-inclusive packages in the passage.
While it mentions "excellent services," this does not necessarily imply meal inclusivity.
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(C) is the correct answer. The ad offers a weekend rate, accompanied with the adverb “only.”
The rate is described as making the cost of a weekend at a Crowne Plaza hotel lower than it has
ever been.

(D) is not the correct answer. Although the passage mentions a "family holiday," it does not

explicitly state that the special offer is a discount specifically for families. The emphasis is on the
weekend rates.
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Sample Passage 2: ILR Level 2

From the local news section in an Arab newspaper

a0 S pdlsall 3 Aald ¢ (3dan; Bgall Lalad) (SLYy GBlonl] 3yl — 3de
g 53l Bsgdl Ay (slany Al (Oginlal) . (adY) Lo . agieg coyall Z ) L
U S 1y Y ey il e ed LBAS ) e Lgige s cpnlidl)

bl 33T (o)Ll a8s 138 (5hall Bogall lasal Ui (ygallas ¥ Ae L) eV3ay .o puaig
Al Jls 8 (pma b ol 3y

OesAl dilaias SLAN (38 alel iy aalging Ao gl ey el asl Jlg
Oy (e )33 el sogdll BY s e a1 0giaaldl) L) S Cua B
Wy« yraail) 8 dals Akl pliag Sl L el 50l phar (adadil Cua il g
Ly Jlgydll Cun ( Jihaie (o Bgea a2 il uldl) (55)) (daadls LS
Olasall B s VL LS L jal) 85il) aadds 8 Jany (ol (99 00m 1205 cclludlly
Ay gt ol 2L alsh (i) @lling ey Lil) Gadiil) puaid elld @l s Ll
" Gaar agl Jokid . ad )

Csbay Cpimglal) ~ ) Aals ¢ € alasl dllia Qe a5 66 e o il
iy Ul 13 ALY 25l 850l agiiint WY Jaeall 13 g piing 5n il
L dluas cglin elldly Sl Gie LS dalias Gl ssgdll b lilee yfias

3 kel AT 1 0sSs 38s DLl aluall 05 28 (Sl (e 2l asall 8 dren
Osiadal) Copall ~ Gl aa Liily €Ty a3 )50 850 10005 300 o Lo ol #sl5a
Osbiaid e ) WL (gAY cladlaall (e 3y 3 Osilaall ol
Vaclaally @alall il Ay alaall 8 5sgdll oyl

2. What describes the practice discussed in the passage?

(A) An everyday habit.
(B) A social gathering.
(C) An informal ritual.
(D) A traditional activity.
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The correct answer is (D).
Justification:

(A) is not the correct answer. While the vendors may offer coffee every day, this option does not
fully capture the significance and cultural context of the practice.

(B) is not the correct answer. The passage does not describe a social gathering, but rather
individual vendors offering coffee to passersby.

(C) is not the correct answer. This option is close, but “informal ritual” might imply a more
structured or repetitive practice, whereas the passage describes a more casual and spontaneous
offering of coffee.

(D) is the correct answer. According to the text, the serving of coffee is presented as an Arab
tradition, requiring special preparation. The purpose of the practice is to offer people the original
Arab coffee. Furthermore, the vendor wears traditional clothing while serving the coffee.
3. What does Abu Ali say about the coffee he serves?

(A) It requires a specific type of coffee beans.

(B) it is prepared in a distinct way.

(C) It needs to be served in special cups.

(D) It is priced according to time of day.
The correct answer is (B).

Justification:

(A) is not the correct answer. According to Abu Ali’s statement in the second paragraph, there is
no mention of a specific type of coffee beans required to make it.

(B) is the correct answer. In the second paragraph, Abu Ali says that making Arab coffee
requires a “special way of preparation.”

(C) is not the correct answer. The passage mentions that Abu Ali uses “small cups,” but it does
not imply that these cups are special or required for serving the coffee.

(D) is not the correct answer. The passage does not mention anything about pricing, let alone
pricing according to time of day.

25



DLPTS5-CA Familiarization Guide — August 2025

4. What does Abu Ali say about his patrons?

(A) Visitors from the countryside pay the least.

(B) Local people show little interest.

(C) Visitors from the Gulf are the most appreciative.
(D) Western tourists are bewildered.

The correct answer is (C).
Justification:

(A) is not the correct answer. The passage does not mention anything about visitors from the
countryside or their payment habits.

(B) is not the correct answer. The passage actually mentions that “local people” are among Abu
Ali’s customers, but it does not state or imply that they show little interest.

(C) is the correct answer. According to Abu Ali, many people pay generously for coffee. He
points specifically to those from the Gulf, saying that they “pay good money” to show their
gratitude and their appreciation to Abu Ali for his coffee.

(D) is not the correct answer. Abu Ali indicates that “foreign” tourists, meaning non-Arab

tourists, are not among his patrons. These tourists prefer the coffee served in coffee shops and
restaurants.
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Sample Passage 3: ILR Level 3

From a commentary in an Egyptian newspaper

Lo Plain dasdgll Clgall e Basiall adld daalil) L) G3sia Lial cyda (1)
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5. In the first paragraph, what is implied about the security measures taken by the US?

(A) They are unprecedented in the history of the US.

(B) They are causing serious concerns in American society.
(C) They are doubting the US commitment to human rights.
(D) They are intended to be temporary measures.

The correct answer is (C).

Justification:

(A) is not the correct answer. Toward the end of the paragraph, the commentator refers to
American history, labeling the current security measures as a “witch hunt,” therefore implying
that these types of operations have, indeed, occurred in the past.

(B) is not the correct answer. The first paragraph focuses on the concerns of the international

community about the effect of US actions on human rights around the world. There is no
indication in the paragraph that American society is also concerned.
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(C) is the correct answer. The first paragraph opens with the explicit statement that the UNHRC
is concerned about the use of the “War on Terror” as a pretext to violate civil rights around the
world. The paragraph goes on to say that the primary point of concern is the US itself, because of
the interrogation of Muslims living in the US. The paragraph also describes the actions

taken by US security agencies such as searching and detaining individuals on the basis of

their ethnicity or religious affiliation. The implication is that these types of actions do not go
along with US commitment to human rights.

(D) is not the correct answer. The passage does not mention anything about the security
measures being temporary, so this option provides a plausible but incorrect answer that requires
test-takers to carefully consider the passage’s content.

6. What point does the commentator make in the second paragraph about the US anti-
terrorism campaign?

(A) It is inadvertently destroying its own efforts.

(B) It is inconsistently applying its declared principles.
(C) It is overly reliant on foreign intelligence.

(D) It is successfully disrupting terrorist networks.

The correct answer is (B).
Justification:

(A) is not the correct answer. It is inadvertently destroying its own efforts: While the passage
does suggest that the US campaign may be counterproductive, it does not explicitly state that it is
destroying its own efforts.

(B) is the correct answer. Among the US’s declared principles is that every citizen deserves a fair
trial, including the right to be presumed innocent until proven guilty, legal representation, and a
public, impartial hearing The commentator is implying that the US is contradicting these
declared principles.

(C) is not the correct answer. The commentator implies that the US is failing to properly
appreciate the assistance offered by key players in the American Muslim community. But he
does not say that the US is overly or heavily reliant on foreign intelligence.

(D) is not the correct answer. The passage actually suggests that the US campaign is being

criticized for its treatment of certain individuals and groups, but it does not mention anything
about successfully disrupting terrorist networks.
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7. In the fourth paragraph, what does the commentator imply about some Arab
commentators?

(A) They are eager to offer their expertise in dealing with terrorists.
(B) They are tolerant of the US government’s excessive measures.
(C) They are exploiting the situation to justify their countries’ dictatorial practices.
(D) They are missing the point that military tribunals are limited to extreme cases.

The correct answer is (C).

Justification:

(A) is not the correct answer. The commentator makes no allusion to the willingness of Arab
commentators to offer their expertise. He only alludes to their support for military tribunals.

(B) is not the correct answer. According to the commentator, the commentators do not see the
American initiatives as being “excessive,” but rather normal. Consequently, the word “lenient”
becomes irrelevant.

(C) is the correct answer. According to the commentator, some Arab commentators have been
quick to point out the advantages and qualities of military tribunals, thus presenting their use in
Arab countries as a precedent of which to be proud. The creation of these tribunals in the

US gives these commentators an opportunity to brag about having them on their own
countries, where tribunals are used against the citizens as part of the repressive

methods of dictatorship.

(D) is not the correct answer. There is no mention of “extreme cases.” The tribunals are meant
for noncitizens, which Arab commentators overlook because in Arab countries, the tribunals are
meant for citizens.

8. In the fourth paragraph, what point does the commentator make in referring to
European countries?

(A) The US military tribunals are considered to be ineffective.
(B) The US military tribunals are mainly intended for non-Europeans.

(C) The US military tribunal system is inherently unjust.
(D) The US military tribunal system is accepted by Arab countries.

The correct answer is (C).

Justification:

(A) is not the correct answer. There is no mention of the effectiveness of military tribunals. On
the contrary, the expression “made-to-order” suggests that these tribunals may be effective for

their intended purpose.

(B) is not the correct answer. According to the commentator, the tribunals are mainly intended
for non-US citizens or foreign nationals. The European countries intervened to have their
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nationals exempted from these courts, which confirms that, in terms of status, the tribunals can
apply to European citizens.

(C) is the correct answer. According to the commentator, European countries intervened to
ensure their citizens a “just trial before ordinary court,” which implies that the Europeans do not
consider the newly created military tribunals as providing a just process.

(D) is not the correct answer. The passage suggests that European countries have intervened to
ensure fair trials in regular courts, but it does not mention anything about Arab countries
accepting the military tribunal system.

9. What prediction is implied in the last paragraph?

(A) The Americans’ overconfidence in their democracy will cause its decline.
(B) The US will eventually cease being a world leader in democracy.

(C) The US situation will awaken alternative forms of democracy elsewhere.
(D) The Americans will ultimately make their democracy prevail.

The correct answer is (D).
Justification:

(A) is not the correct answer. The last paragraph focuses on civil rights in the US. In the first
sentence, it mentions that civil rights have been the pride of American democracy. The paragraph
warns against the danger of losing these rights and, thus, the moral superiority they gave
Americans. There is a danger of “decline,” but the paragraph links this danger to civil rights and
does not make it the consequence of American “overconfidence” in its democracy. On the
contrary, the paragraph implies that the attachment of Americans to their democracy will
overcome the dangers threatening their civil rights.

(B) is not the correct answer. In the first sentence, the commentator warns against the prospect of
the US ceasing to serve as a model in terms of civil rights. (The model of democracy it is

offering the world may cease, but this would not eliminate its leadership.) In his argument, this
prospect should prompt Americans to react by eliminating the loopholes created by the new
measures. He is confident American democratic forces will do just that, thus upholding the
values of American democracy. This prediction is the opposite of the one mentioned in option B.

(C) is not the correct answer. The commentator predicts the “awakening” of American
democratic forces to stand up against the dangers threatening their civil liberties, and not the
awakening of democracy in other parts of the world.

(D) is the correct answer. The commentator makes the argument that unlike developing
countries, Westerners (i.e. Americans) will not tolerate violations of their civil rights and
personal freedoms for very long. In the West, the “forces of democracy” (civil society,
institutions, governmental mechanisms, and political culture) stand up quickly to such violations
to stop them. He implies that the “forces of democracy” in the US will respond strongly, thereby
enabling democracy to prevail over the threats it currently faces.
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Sample Passage 4: ILR Level 4

From a book review in an Arab newspaper

Lgalai G Aaelgall bl e Lgae Gand o Aalil) Joall lgaditi dand placl (1)
Blaall baady dabahiaaly Ga L) QES Gl ¢ jslaiall 18 ey dalaljaanall Ll
Al oy o 3sgdie anl€l Loy Jolay a8 Asliial daeal i «ully 3yall oo
ehaal) Alahpanl Caalis 3 Ayal) Lplpdl alail) it b Ay g pucal) Aesl

O (Olsinll 825 Y D) AWS o aeg Bl daial s sl Gl Ladla)

Al s cdabahanll e doaddally ddaanll L) chlall dalad e Lo QS Gl
laasg Byall AalS () Iaine Glgialls DY) 3] dingia 89 pin Calgall 25

()8 agl 8 Lgmaan Bl Jsalld ¢ iSS

Balal) L) daud 2als Gopd Of Sasben @y Ciaaall a0SY1 120 Y5 (T12)
Sy calaa) A Al a8 Ll pailly dulahianll ge Buaal) Lgluias b )
5SS cduald IS dadie (B (ppalaall aaluall QST ()86l algdan) (e
in o W) (65 13 clasially alsglly Gageaill & Y Cuai (goliajill s
4 oy DS e ggliasall (e Aailgall didae g Lbabianll ge S (0 Jg¥) Jeail
fra b S O Loally LS e il e s Yoy sag «@DlaY) G Al
gils (& Baatng Al a0 ) oS il ol 58 e I (s Llad (3T il
sy Jaadl Gaiatl e 3 Y L dulahal) cullid e G o Lide Lt (g5 Gl
o) 1385 L «iay¥) G culladl cpladlal) (laads ang & Casiglly QL) (Bgia plialy
alalall jlos) 6 aslml 50 ALY o3a sed Anluil) ulawil) 5)68 che (gsliajall Fpdil
Oallal) Cldlalls jeY) Blay s Lageady

(o 4 aadiiog Wl 1 debudig auall Olsda) lad (e G L) g (113)

O Gppalaall Giams aa e eyl Ay (& Jae IS Lim o Hde pulad) O3
Disall ol Hdie ualad) Gyl 43kl dgalally Salll (& )l e Jae IS i

32



DLPTS5-CA Familiarization Guide — August 2025

Adllae Cad Cpall e g8 Janilly Jall gy il 315k sy talgd aie i (53
Lal Allaal) dylasy Calgall alaaa) e ATl slgina) e ) Uyal agg al

L) asead ans L l3ay elaa¥) Jaad) e Jire Whias i of oSa Y dula)paallé
Alad 8 adde by Tl Gls )5 cpdasiall (pfinld) (ye 3188 (die Line Lnaal B1)a
A~ ey atiae 4y — Al s ge Buas jaliall GESI 138 Jgead aial Jaly

bl Calgall Siny (Lo aed cAgnall Ciliaslgaal g dudalaanalls paladl bl Juadl
abal) A3l pias 6 calg gl el e Wage s Bbahianll e Giad
U o Aubhall LSl e gLl Llggus b G o Liea dage Ll 2l
o) il e Dlad i€y oLl pa degall 03gn Gua Wl o8 S5 ¢lalilly 3lalial
deagis cdablianl) e duslaiall Lijall e lala dalla s LgSlliags duadlusy) daaa )
(1555 e aadl iy g BEY) Ay sl AS5e dudla) slanll ol Jsdl) )
laally alhal) 4piaidy Lo o We (ggiad cands duea

il alivy ol LudlaY) Al 8 didally Blaslly 48 jpeall e Jad 85 (T4)
&b Y il oy lalilas ) Al Alsid) st of alell QLS el
Gl Ll alail) 8 Algal) e cpall G B8] 2y yde aulill (Al
35n pdas Oslois () me Calialy cdalae Lalis duadll s3] Jgumyad (o paes 6]
AN By A agai 3B Jaghy dhee iy g9 DY) (B AngigS Clsda

10. In the first paragraph, what does the reviewer suggest regarding the importance of
Hariq’s book?

(A) The book highlights the difficulties encountered by developing countries in
applying the principles of democracy.

(B) The book introduces a theoretical framework for the democratization of the
regimes in developing countries.

(C) It underscores the developing countries’ need to modernize their cultural
traditions in order to join the developed world.

(D) It provides a systematic approach for the modernization of traditional political
systems in developing countries.

The correct answer is (D).
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Justification:

The question addresses the importance of the topic of the book. The answer is limited to the first
paragraph.

(A) is not the correct answer. The first paragraph does not address any attempts on the part of
developing countries to apply the principles of democracy. On the contrary, it discusses the
reasons why these countries are hostile toward democracy.

(B) is not the correct answer. According to the reviewer, the focus of Harik’s book is not on
democratizing the regimes of the developing world, but rather on how to find a reasonable
compromise between the traditional systems of the developing world and democracy. According
to Hariq’s analysis, the two must find a practical compromise for coexistence.

(C) is not the correct answer. There is no mention of cultural traditions in the first paragraph.
The book concentrates on how to modernize political systems. Cultural traditions cannot be
modernized and still remain traditions.

(D) is the correct answer. Throughout the first paragraph, the book reviewer emphasizes that the
importance of Hariq’s book lies in its discussion of how developing countries can modernize
their political systems. Modernization is defined as reaching a compromise between traditional
political systems and democracy. Furthermore, the reviewer characterized Hariq’s approach to
his analysis as undeniably academic, which in this context means methodical

or systematic. D is the only answer choice that discusses the modernization of political systems
in terms of a systemic approach.

11. What evaluation does the reviewer provide of Harik’s writing strategy?

(A) The author uses too many references, thus hoping to gain credibility as a
researcher.

(B) The author is too neutral, thus avoiding taking positions on the key issues he
examines.

(C) The author quotes too many Muslim writers in order to demonstrate the extent
of his knowledge.

(D) The author is very cautious due to his vulnerability to the accusation of being
prejudiced.

The correct answer is (D).
Justification:
The question focuses on the reviewer’s interpretation of Harik’s reliance on Islamic sources in

his analysis.

(A) is not the correct answer. Although the reviewer mentions the use of numerous references in
the book, he does not judge this as a way to gain credibility as a researcher. On the contrary, the
reviewer takes Hariq’s researching ability for granted. Therefore, A is not the best answer.
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(B) is not the correct answer. The reviewer never mentions that Hariq is neutral. Nor does he say
that Hariq avoids taking positions. The reviewer characterizes Hariq as cautious, not neutral.
Therefore, B is not the best answer.

(C) is not the correct answer. Although the reviewer indicates the use of numerous citations in
the book, he does not judge this as aiming at demonstrating Hariq’s knowledge. In fact, the
reviewer’s underscoring of Hariq’s academic competence rules out such an interpretation the
book’s heavy reliance on Islamic sources.

(D) is the correct answer. The reviewer points out that the author is Christian, which may place
him at a disadvantage in addressing Islamic issues. As a result, Hariq’s use of numerous citations
from Islamic scholars is interpreted as a strategy to forestall criticism or suspicion. The reviewer
therefore characterizes Hariq as excessively cautious. Therefore, D is the best answer.

12. What point is implied in the quotation in the second paragraph (12)?

(A) The rejection of foreign cultures by Muslim societies is a pretext to
maintain oppression.

(B) Muslims should find their own way to apply the principles of democracy.

(C) Muslims can benefit from adapting foreign avenues to achieve an ideal
Islamic society.

(D) The reality of today’s world requires Muslims to invent novel ways to
implement Islam.

The correct answer is (C).
Justification:

The question focuses on the meaning of the quotation. It addresses the acceptability of using
outside avenues to achieve society’s ideals. The question is limited to the quotation presented in
the second paragraph.

(A) is not the correct answer. Although the notion represented by answer choice A is found in
Muslim writing, it is not addressed in this quotation. The quotation refers to borrowing from the
governmental methods of other societies as a means of combating the oppression of local rulers.

(B) is not the correct answer. While the citation implies that Muslims can find their own way to
build an ideal society, it recommends that they adapt democratic practices or mechanisms (not
principles) from the outside to meet their goals. They should continue to do this so long as they
are unable to invent their own mechanisms.

(C) is the correct answer. According to the citation, it is permissible and recommended for
Muslims to borrow from non-Muslims in order achieve an ideal that is in accordance with
Islamic objectives and values. The values enumerated in the citation are typical of those found in
Islamic philosophy and literature. The mention of democratic methods is a reference to non-
Muslim means that can be adapted to fit Muslim objectives.
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(D) is not the correct answer. Inventing new ways to implement Islam is not the focus of the
citation. The citation is about adapting existing, non-Muslim methods in order to meet Islamic
goals.

13. In the third paragraph (1]3), what position concerning justice does the reviewer derive
from the book?

(A) Islam recognizes the legitimacy of achieving justice through independent thinking.

(B) Religion provides a solid foundation for the achievement of justice.

(C) The establishment of democracy is conditioned upon attaining justice.

(D) There is a correlation between democracy and justice, though they are distinct
concepts.

The correct answer is (A).
Justification:

The question focuses on how justice, religion, and democracy relate to each other. The answer to
the question is limited to the third paragraph.

(A) is the correct answer. The citation presented in the paragraph imply that obtaining justice
does not necessarily have to be done on the basis of religious sources. Achieving justice, whether
through religion or through other avenues (i.e. independent thinking), is not incompatible with
al-shar [divine law]. In the first sentence of the paragraph, the reviewer indicates Hariq’s indirect
criticism of those who rule out any form of justice not explicitly defined in Islamic scriptures.

(B) is not the correct answer. The focus in the third paragraph is the idea that religious
foundations are not essential for achieving justice. Furthermore, in the third paragraph, the
reviewer does not characterize the religious foundations of justice.

(C) is not the correct answer. In the third paragraph, the reviewer does not establish an order of
precedence between justice and democracy. He states that one cannot be discussed without
considering the other.

(D) is not the correct answer. In the third paragraph, the reviewer states that there is a link
between “social justice” (i.e. entitlements and services provided by the government) and
democracy, but he does not establish a correlation between the concept of justice and the concept
of democracy.
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14. Which of the following best reflects the reviewer’s judgment about the book in the
fourth paragraph (74)?

(A) He is surprised at the choice of comparison the author uses to illustrate the
complexity of Islamic culture.

(B) He is impressed with the author’s ability to refute a common belief about Islamic
culture.

(C) He disagrees with the author’s suggestion that religious ideologies are
responsible for democracy’s setbacks.

(D) He supports the author’s idea that democracy is a political rather than a religious
issue.

The correct answer is (B).
Justification:

The question focuses on the relationship between religion and democracy and whether religion
presents an obstacle to democracy. The answer is limited to the fourth paragraph.

(A) is not the correct answer. The paragraph ends with the comparison between Islamic culture
and a doctor’s medical bag, highlighting the flexibility of the culture in meeting various needs.
However, there is no surprise expressed by the reviewer. The way in which the comparison is
presented indicates the reviewer’s endorsement.

(B) is the correct answer. The reviewer is impressed with the author’s ability to refute a common
belief about Islamic culture.

(C) is not the correct answer. The focus of the fourth paragraph is to show Harik’s ability to
demonstrate that religion is not responsible for the difficulties faced by democracy.

(D) is not the correct answer. According to the first sentence of the paragraph, religion is not the
source of democracy. Democracy is a construct of political philosophy. The reviewer presents
this idea as Harik’s belief; he does not pass any judgment on it or take any responsibility for it.

15. What does the reviewer imply in the last paragraph regarding the author of the
book?

(A) The author is braver than other Arab scholars in his approach to secularism in
Islamic countries.

(B) The author is innovative in his approach to the issue of clerical institutions in
Islam.

(C) The author is more comprehensive than previous researchers in studying Islamic
regimes.

(D) The author is tactful in discussing the relationship between government and
religion under Islam.
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The correct answer is (A).
Justification:

The question focuses on issue of secularism and Islam. The answer is limited to the last
paragraph.

(A) is the correct answer. The reviewer sees Harik as braver than other Arab scholars because,
unlike the others, he presents the possibility of separating religion from the state, even in Islamic
countries. Other scholars have lacked the courage to address the issue so forthrightly.

(B) is not the correct answer. There is no characterization of the author’s approach in the
paragraph, and therefore no “innovation”. According to the paragraph, Harik simply disagreed
with those who denied the existence of clerical institutions in Islam.

(C) is not the correct answer. The reviewer underscores the comprehensive aspect of Harik’s
research. The work is comprehensive in that it encompasses all opinions about the relationship
between government and religion. The paragraph does not discuss studying Islamic regimes as
such.

(D) is not the correct answer. To characterize Harik's analysis of government and religion as

“tactful” is incorrect. The text does say that he addresses the issue in a neutral and objective way.
This is not the same as a “tactful” approach.
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Listening Comprehension Sample Passages
Note: Examinees will not see passage transcripts in an actual DLPT5-CA Listening Test.

Sample Passagel: ILR Level 1

This passage is from a message left on an answering machine.

Transcription:

O Ll elgy aaay Alaial) Uali Uil oSalad 5l sane HsiSall salie Uia <
A dung pa (2laay Blia asll 8 e slsall lashaat o) Jguii Y . (gols pS5Y
ey Lol Bl & Cadall L)y s dalaad) e i) 8 Saiad of deadY) g

- DSay (e gl

1. What does the message inform the family concerning Salwa?
(A) She has to continue with her diet for two more days.
(B) She has been diagnosed with an ear infection.
(C) The pharmacy has requested the refill of her medicine.
(D) The doctor expects to see her in two weeks.

The correct answer is (D).

Justification:

(A) is not the correct answer. The message recommends that Salwa eat light meals with her
medicine but does not specify what diet she is supposed to follow, and the message indicates that
Salwa’s treatment will last two weeks and not two days.

(B) is not the correct answer. The message refers to Salwa’s ear infection as a previous condition
already known by Salwa’s parents and does not mention any diagnosis or new development in

Salwa’s health.

(C) is not the correct answer. The message is from Salwa’s doctor and not from the pharmacy,
and the doctor informs Salwa’s parents that the refill has been authorized.

(D) is the correct answer. The message says that the doctor will see Salwa in two weeks.
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Sample Passage 2: ILR Level 2

This passage is from a May 2003 BBC news broadcast from Baghdad.

Transcription:
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2. What is one thing the reporter observed in the zoo?
(A) Evidence of ongoing military activities.
(B) The disastrous effects of military operations.

(C) The rescue of injured animals by soldiers.
(D) Apparent relief over the reopening of the zoo.

The correct answer is (B).
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Justification:

(A) is not the correct answer. The reporter describes the effects of a military attack. He mentions
several pieces of damaged and abandoned military hardware, indicating that military activity has
ceased, and thus, is not ongoing.

(B) is the correct answer. The description given indicates a great deal of damage to the zoo
caused by military attacks. The reporter mentions damaged military hardware, evidence of
bombing, and destroyed cages.

(C) is not the correct answer. There is no description of soldiers rescuing animals. On the
contrary, American soldiers killed four lions.

(D) is not the correct answer. There is no indication in the passage that the zoo has reopened.
The reference to recreation areas for families is not what the reporter saw but is part of the
background information he provides.

3. What did the supervisor, Mr. Abdul Hassan, report?

(A) The zoo lost most of its wild animal species.
(B) Rare birds were taken.

(C) A new shipment of animals was stolen.

(D) Fish tanks were destroyed.

The correct answer is (D).

Justification:

(A) is not the correct answer. It is true that the zoo lost many of its animals. But the question
specifically asks what Mr. Abdul Hassan, the keeper of the fish tanks, reports. The information
about the zoo animals is presented by the reporter and does not refer to the fish tanks.

(B) is not the correct answer. It is true that rare birds were taken, but this is part of the reporter’s
observations; it is not reported by Mr. Hassan, the keeper of the fish tanks. This option has

nothing to do with Mr. Hassan’s area.

(C) is not the correct answer. It is true that a shipment of animals was taken, but this was not
reported by Mr. Hassan. It is attributed to other eyewitnesses.

(D) is the correct answer. Mr. Hassan, the keeper of the fish tanks, reports that what was too
heavy to be taken was smashed. He is referring to the fish tanks.
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Sample Passage 3: Level 3

This passage is from a BBC interview with a Palestinian activist.

Transcription:
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4. What can be inferred from the interviewer’s questions and comments about the
Palestinian armed resistance?

(A) Its continuation is threatened by mounting pressures.

(B) Its relevance is challenged by the implementation of the peace initiative.
(C) Its influence is challenged by recent shifts in public opinion.

(D) Its resilience is put to the test by difficult choices.

The correct answer is (A).
Justification:

(A) is the correct answer. The interviewer opens by asking the activist about eventual Palestinian
compliance with Israeli demands to curb violence. He alludes to the fact that the demands are not
solely those of Israel. The reporter also mentions the US proposed Road Map to Peace that
would presumably do away with the need for violence. He indicates that the Palestinian
leadership has accepted it. Thus, the premise of the interviewer’s questions is that the
continuation of the armed resistance is threatened due to national and international pressures.

(B) is not the correct answer. The relevance of the armed resistance is not yet an issue since no
peace initiative has been implemented. The reporter’s question is purely hypothetical. In
addition, the host refers directly to the Road Map, which is not a peace initiative as such.

(C) is not the correct answer. The interviewer does not mention public opinion. All of the
questions are focused on the potential response of the armed resistance to a peace plan. The only
reference to public opinion is made by the interviewee.

(D) is not the correct answer. The reporter does not frame his questions in terms of difficult
choices currently facing armed resistance. He is asking a hypothetical question about how the
armed resistance would redirect or alter its actions if a peace plan were to be implemented at
some future date. There is no indication that the resilience of the armed resistance is being tested.

5. What is the basis for the interviewee’s confidence?
(A) He expects the Palestinian leadership to reject the new proposals.
(B) He believes the government will submit to the will of the people.
(C) He thinks the government is unwilling to crack down on the resistance.
(D) He trusts the Palestinian people’s determination to fight the occupation.
The correct answer is (B).

Justification:

(A) is not the correct answer. The activist does not deny the Palestinian leadership’s support for
the Road Map, which are the “new proposals.”
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(B) is the correct answer. The activist repeatedly refers to the popular support of the Palestinian
public for armed resistance groups, as well as the unlikelihood that any Palestinian government
would counter the will of the people. He emphasizes this support in answering the interviewer’s
first and last questions. For the activist, there is no difference between the objectives of

the armed resistance and the popular will of the Palestinian people. In his final comment, he
reiterates that no Palestinian government would crack down on armed resistance groups, because
it is inconceivable that the government would fail to respect the will of

the people.

(C) is not the correct answer. The interviewee implicitly recognizes that the Palestinian
leadership has accepted the Road Map (which calls for halting armed resistance). Thus, it is
illogical that he would base his confidence on the Palestinian government’s unwillingness to
crack down. He is counting on the support of the people to fend off any attempts to crack down.

(D) is not the correct answer. The whole interview is focused on what the resistance groups will
do if the Palestinian government agrees to crack down on them as part of the implementation of
the Road Map. The only role given to the people by the interviewee is to support the armed
resistance. He is quite certain that the Palestinian people will continue to support the armed
resistance against the Israeli occupation so long as the occupation continues. He does not
mention the people themselves fighting the occupation nor does he expect them to do so.
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Sample Passage 4: Level 4
This passage is from a book review broadcast on TV.

Transcription:
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6. Which of the following best reflects the significance of al-Turabi’s book?

(A) He derives a modern political system from well-established Islamic traditions.

(B) He reconciles Islam with modernity through the reinterpretation of Islamic
notions.

(C) He calls for the revival of Islamic values in order to meet the challenges of
modernity.

(D) He realizes the modernization of Islam through borrowing from democratic
practices.

The correct answer is (B).
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Justification:

(A) is not the correct answer. According to the speaker, al-Turabi is not developing any political
system based on well-established Islamic traditions. There is no reference to traditions in the
speaker’s discourse, only to values and concepts. According to the speaker, al-Turabi is
constructing his system on the basis of Islamic concepts.

(B) is the correct answer. According to the speaker, al-Turabi has reinterpreted the Islamic notion
of ljtihad. Ijtihad was originally a concept limited to the elite: those trained in jurisprudence,
science, religion, etc. This elite instructed the public. For al-Turabi, [jtihad is a notion that is now
open to all people. He does the same with Shura. Rather than viewing it according to its original
definition as consultation between the government and the religious and intellectual elite, he sees
it as multifaceted dialogues in which all parts of society would participate. Thus, through his
reinterpretation of these notions, he brings Islam closer to the modern concepts of government.

(C) is not the correct answer. The reference to the revival of the values upon which al-Turabi
bases his analysis is contradictory, since it implies that they were dead and needed to be
resurrected. These values are an inherent part of Islam, and he is reinterpreting and combining
them to fit modern needs.

(D) is not the correct answer. The values presented by al-Turabi and explained by the speaker
are not borrowed from the outside but are inherent to Islam.

7. According to the speaker, which of the following best reflects the method used by al-
Turabi in his book?

(A) Blending together contrasting ideas to build a personal philosophy.
(B) Developing a progressive sequence of logical causes and effects.
(C) Combining distinct concepts to construct a coherent ideology.

(D) Drawing new concepts from an examination of customary practices.

The correct answer is (C).
Justification:

(A) is not the correct answer. According to the speaker, al-Turabi does not blend completely
unrelated ideas, nor is he developing a personal philosophy. He is constructing a modern political
system for government based on distinct, but compatible, Islamic concepts.

(B) is not the correct answer. According to the speaker, the political system developed by al-
Turabi is not a progressive, linear sequence of concepts, but rather a mutually dependent
association of concepts (i.e., each concept interacts with the others in a continuous cycle).

(C) is the correct answer. According to the speaker, al-Turabi builds a system around compatible,
though distinct, Islamic notions that were not previously intended to constitute a comprehensive
political system. His interpretation of the notion of ijtihad as open to the participation of all takes
him to the notion of Shura (interpreted as continuous dialogue), leading to ijma’
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(interpreted as a general consensus reached through the use of dialogue). Thus, he
constructs a coherent, political system rooted in Islam.

(D) is not the correct answer. According to the speaker, al-Turabi does not draw on new
concepts; he draws on fundamental Islamic concepts by reinterpreting them. He is not examining
customary practices. There is no reference to such practices in the speaker’s discourse, only to
values and concepts.
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